
pT(th)
1

σnorm

dσ
dpT(th)

pT(th)
1

σnorm

dσ
dpT(th)

[GeV] [GeV−1] [GeV] [GeV−1]

0–40 (2.397 ± 0.018 ± 0.074)×10−3 240–280 (1.027 ± 0.010 ± 0.021)×10−3

40–80 (5.508 ± 0.024 ± 0.099)×10−3 280–330 (5.73 ± 0.07 ± 0.19)×10−4

80–120 (5.735 ± 0.025 ± 0.074)×10−3 330–380 (3.00 ± 0.05 ± 0.12)×10−4

120–160 (4.322 ± 0.022 ± 0.069)×10−3 380–430 (1.520 ± 0.035 ± 0.075)×10−4

160–200 (2.816 ± 0.017 ± 0.041)×10−3 430–500 (6.80 ± 0.22 ± 0.41)×10−5

200–240 (1.707 ± 0.013 ± 0.038)×10−3 500–800 (1.19 ± 0.05 ± 0.15)×10−5


